
 - 73 - 

135. For observation i of a survival study: 
 
� di is the left truncation point 
 
� xi is the observed value if not right censored 
 
� ui is the observed value if right censored 
 
You are given: 
 

Observation (i) id  ix  iu  
1 0 0.9 �  
2 0 �  1.2 
3 0 1.5 �  
4 0 �  1.5 
5 0 �  1.6 
6 0 1.7 �  
7 0 �  1.7 
8 1.3 2.1 �  
9 1.5 2.1 �  
10 1.6 �  2.3 

 
 
Determine the Kaplan-Meier Product-Limit estimate, 10S (1.6). 
 
 
(A) Less than 0.55 
 
(B) At least 0.55, but less than 0.60 
 
(C) At least 0.60, but less than 0.65 
 
(D) At least 0.65, but less than 0.70 
 
(E) At least 0.70 
 
 


